EO0C Review #5

X 0F9V“7‘L"0"5 — 4//, Svtfrqc'f, mv/f',b/y- ] Aivide
Flx)= 2x+| Jlx) = X

.F./.j: (2x+/) +(X‘) s X2+2x+/ )Ud— combine li|<e
FogeCxe) 6 = xuonnr ) ferms

-Fj ] (ZXH)'(X&): ZXS'/'Xz —> aéfsﬁl'évfe

'F = ZX+/
/j Xz X+0 ﬁa@wwhdbr = O

. Coﬂ'fOSIWon ——af.uﬂwj ﬁhoﬁ}m: /’,ﬂl,, eacl a%
fog=26)+] = 2x2e1 e—pit gt f
jojﬁ =

X eva/vafe a,,,,.,fogfﬁon
(92D = £(2) = F(4) = 20)] = { & evaloate 7() then

pot that H into
F

I(f(-3) =
£(9(0) =



K Inverse —> switch X % Y, Solve ~for Y
9(x) = 24X -3

()= X +7
KT
X=y +7

X-7=y"

1x-7 =
£ 0)=4x7

A/ﬁcmn; fyfes of 7Cm cfions

A

\

ic/enfkﬂ} |

Fradratre

|
B

=




